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B {fiNo £ i1 S B = BT B M T+ % " =
6140 = T (&) $itE+ ME L 35K 27.70 m 1,035 28,669
7010 (A& X))y T H=6.5m E@{EXE 20.45 t 699,975 14,314,488
B it 14,343,157
Hi [48138485] 48,138,000
BN H Bl 52,933
(&%) £%BHON FHECGEGLF -BIFH) FHHEZER (0% BAR2B#1EFHER(1.05) 8,668,465
EEEHOA FHEE(EEF-BIF) FIF@HIEZR(0%) ER2BFHIEFRE(1.05) 1,282,936
EEEETDA FREHF 34,033,459
SEHOA HHER BEAR2BHIEZRE.04) 159,137




BH H 5=
2 |REET ZE~7HN (L)
1-FNo| (#&:&) (EMEEER) (BEHEHA) r(2JAavy HJJ0vY
_ BAHZMEEE rE =40 58 =0 431
H {fiNo % i % ® = Ei B M & % w =
86[[ 8 T 3 &2 ] 1.00 = 0 0
5235 | KR V7 A EE (&) |RoTEHI~5E 1.00| &P 73,860 73,860
5232 [JK B V7 HEKMEZERFHEK] | HEK=40-120m3Kii/h 23.00 = 11,824 271,952 Josxasis0x 70 x05-402
6151 | D51 (&) 6H 10.00 m 11,660 116,600
6158 |M@HEKEE (&) 6H 40.00 m 9,543 381,720
5261 |¥vytu+—Y BIGRERE () 283.20 m 2,246 636,067 | & ko> oy —rip
5253 | B EIERI BIGRERE (&) |RERVMEL 68.80| #fm2 2,931 201,652 [REE
5249 B ERGRERE (&) |ZERVREL 361.40| #Htm2 3,459 1,250,082 SRS 1) MR
6183|538 RA1E 120.6m T EIEEE 10.00 m 1,109 11,090
5249 B ERHRERE (&) |ZERVREL 33.70| #fm2 3,459 116,568 [{EE &
5253 | B EIERI BIGRERE (&) |RERVMEL 16.50] #fm2 2,931 48,361 |18 & &
7555 [MHEME L DSKE T 1.00 = 1,718,030 1,718,030
7548 |BR4R = 1UFE0.8m3BH 254000 m2 88 223,520
7556 [{REIOFAEESRT 1.00 = 672,457 672,457
B &t 5,721,959
Hi [5721959] 5,721,000
BN H Bl 5,721,000
(E%&) £FEHDOA FHE(EEGEF-BIFHN) FHMEZR0%) BER2H4HIERE(1.05) 2,700,607
EEEETON FHEECEGF-BIF) FHFMEEE (0% BER2BHIERE(1.05) 263,953
EEEETDA FREHF 1,477,159
SEEETON HWER B2 BMHIEZRE(1.04) 409,240




B #

=

3 |1FEERER —E5A(E)
1-FNo| (#8:&) (M EEEZEAR) (EE4) r*M>Javy H$2JJ0vY
_ BILHHERE rE =40 58 = 431
B {fiNo £ a1 S ® = BT B i & % w =
75|[ FE & ] 349.60 m 0 0
7523|181 £ (/\w oK) s+ 2,801.00 m3 518 1,450,918
7527 (Y1 (/\wHERD) ;a1 (A 670.00 m3 741 496,470
7532|Y1+ EE(I)B /N9 11F50.8m3 805.00 m3 1,741 1,401,505
7533 [RABEL (1) Stk {E A 322.00 m3 715 230,230
7536 [EMREE L (1) tiRfER 10t4 0 TSyl 11.00] m3 1,380 15,180
7546 [\E k5% L IR 0.8BH 43 ThovoiEik 3,577.00 m3 2,627 9,396,779
B &t 12,991,082
Hi [12991082] 12,991,000
2 H B fiff 37,159
(&%) €5EHOAN HHEECGEGF -BIFHN) FHEHEER(0%) BER2BFHIEFRE(1.05) 364,115
EEEETON FHEECEGF-BIF) FHFMEEE (0% BER2BHIERE(1.05) 6,374,307
SEEETORN R HE 0
SEEETON HWER B2 BMHIEZRE(1.04) 29,915




BH H 5=
4 |RIBES-BET —ExR(E)
1-FNo| (#&:&) (M EEEZEAR) (BEHEHA) r(2JAavy HJJ0vY
PG-1% 4mXx 18m _ BAHZMEEE E =40 58 =0 431
B {fiNo % i S ® = Ei B M & % w =
86[[ 8 T 3 &2 ] 1.00 = 0 0
7500| LR TSR & 1.00 = 3,358,407 3,358,407
7503 | EER T ZEERT 1.00 = 355,777 355,777
7507 | EER TARAT 1.00 = 135,723 135,723
7511 | TR TS+ & 1.00 = 75,160 75,160
7514 FERTZRE% - ET 1.00 = 112,655 112,655
7549 S E R E IR A R B A 1.00 = 291,108 291,108
7550 | S #1 iE iR 2 KRS s # # 1.00 = 400,430 400,430
B &t 4,729,260
Hi [4729260] 4,729,000
BN H Bl 4,729,000
(E%&) £FEHDOA FHE(EEGEF-BIFHN) FHMEZR0%) BER2H4HIERE(1.05) 316,456
EEEETON HHEECELRF-BF) 0
EEEDOA MM 4,307,246
SEEETON HWER B2 BMHIEZRE(1.04) 94,691




BH i =
5 |RBEAI(AIEE —E~7HN (L)
1—FNo| (1&1&) (M EEEZEAR) (EE4) r*Javy HJJ0vY
_ BILHHERE rE =40 58 = 431
B {fiNo £ a1 S ® = BT B i & % w =
73|[ & ] 30.70/ m3 0 0
8500 | FRHEY (L) BI/N\vr—JHMEESE 14.00 m3 1,857 25,998
8501 |RIEY Bk - EH) I/ \vr—J Bl ESE 8.00 m3 11,090 88,720
8502 |1 RL BT/ yr—U Bl ES R 7.00] m3 3,180 22,260
8503 [E mEEIE BI/NvTr—JEMHESE 12.00 m?2 370 4440
8504 | F A BERE (MBS BT/ yr—U Bl ES R 3070 m3 44,370 1,362,159
7522 | EREER ByL t=15cm 12.70 m2 3,006 38,176
7559 |#kEA T —HRREEY 10tk BA2E 0.10 t 65,205 6,520
3767 | EINKEEILZIL UYS98(FLIYIR) 159.00 kg 116 18,444
8505(FEEI V1) —F I/ \vr—J Bl ESR 1.20] m3 33,690 40,428
8043 | — AR R UNEIEEY) (B) |MI/N\vy— HMHESE 050 m2 7,073 3,536
8514|1RLC BT/ yr—U Bt ES R 36.000 m3 1,629 58,644
B &t 1,669,325
Hi [1669325] 1,669,000
2 H B fiff 54,364
(&%) €5EHOAN HHEECGEGF -BIFHN) FHEHEER(0%) BER2BFHIEFRE(1.05) 857,657
EEEETON FHEECEGF-BIF) FHFMEEE (0% BER2BHIERE(1.05) 23,335
EEEDOA MM 733,943
SEEETON HWER B2 BMHIEZRE(1.04) 4,104




BH i =
6 |[RiBIEAI(A2EE —E~7HN (L)
1—FNo| (1&1&) (M EEEZEAR) (EE4) r*Javy HJJ0avyy
_ BILHHERE AE =& 58 = 431
B {fiNo £ a1 % ® = BT B i * % w =
73|[ & ] 090/ m3 0 0
8501 |RIEY Bk - EH) I/ \vsr—J Bl ESR 2400/ m3 11,090 266,160
8503 [E M EIE BINvTr—JEMHESE 4.00 m2 370 1,480
8507 (a7 1)—k (A248 & I/ \vr—JEMEESE 090/ m3 26,460 23,814
8508 [ (HLa>H—h) BI/NvTr—JEMHESE 2.30 m2 3,998 9,195
85151 ELD BINVS—DEMGHESR 6.00 m3 2,448 14,688
B &t 315,337
Hi [315337] 315,000
2 H B fiff 350,000
(&%) €5EHOAN HHEECGEGF -BIFHN) FHEHEER(0%) BER2BFHIEFRE(1.05) 291,193
EEEETON FHEECEGF-BIF) FHFMEEE (0% BER2BHIERE(1.05) 1,667
EEEDOA MM 20,384
SEEETON HWER B2 BMHIEZRE(1.04) 162




B # R

7 |BERET —ExR(E)
1-FNo| (#&:&) (M EEEZEAR) (BEHEHA) r(2JAavy HJJ0vY
_ BAHZMEEE rE =40 58 =0 431
B {fiNo % i S ® = Ei B M & % w =
86[[ 8 T 3 &2 ] 1.00 = 0 0
4482 | EFEEYMIY ZHLT (&) |BH=0.6m3 T L —$H600-800keik 31.90| m3 5,803 185,115
4487 | BHEEYMIRYIHOLI (B) |309U-t7 L-hlE<EHE] 20kehR 090 m3 26,399 23,759
B &t 208,874
Hi [208874] 208,000
2 H B fiff 208,000
(E%&) £FEHDOA FHE(EEGEF-BIFHN) FHMEZR0%) BER2H4HIERE(1.05) 108,292
EEEETON FHEECEGF-BIF) FHFMEEE (0% BER2BHIERE(1.05) 29,093
SEEETORN R HE 0
SEEETON HWER B2 BMHIEZRE(1.04) 274




B #

=

8 |aAvH)—hrEET ZE+A(E)
1—FNo| (1&1&) (M EEEZEAR) (EE4) r*M>Javy H$2JJ0vY
t=15cm _ ELHHEEE rE = A 58 = 431
B {fiNo £ a1 % ® = BT B i * % w =
74|[ E ] 233.70 m2 0 0
7515|a 9 ) — RE T a9 —hEEE t=15cm 233.70 m?2 7,862 1,837,349
7516 |{RiE#E B # 440 m2 1,710 7,524
8508 [ (HLa>H—h) BINvTr—JEMHESE 17.20 m?2 3,998 68,765
7531 | X BRI RYE T B 1 (10%44%90%) 70.00/ m3 1,019 71,330
B &t 1,984,968
Hi [1984968] 1,984,000
2 H B fiff 8,489
(&%) €5EHOAN HHEECGEGF -BIFHN) FHEHEER(0%) BER2BFHIEFRE(1.05) 501,428
EEEETON FHEECEGF-BIF) FHFMEEE (0% BER2BHIERE(1.05) 20,019
EEEDOA MM 1,419,072
SEEDOA HHER 0




B #

=

9 |EAVFEMERIRENERE T IZEsAN (L)
1-FNo| (#&:&) (M EEEZEAR) (EE4) r*Javy HJJ0vY
_ BAHZMEEE rE =40 58 =0 431
B {fiNo % a1 S ® = BT B i & % w =
74| & ] 1,044.70 m2 0 0
8511 | R EAIE BT/ Swr— BilEtE S g 1,04470] m2 1,264 1,320,500
B &t 1,320,500
Hi [1320500] 1,320,000
2 H B fiff 1,263
(&%) €5EHOAN HHEECGEGF -BIFHN) FHEHEER(0%) BER2BFHIEFRE(1.05) 86,710
EEEETON FHEECEGF-BIF) FHFMEEE (0% BER2BHIERE(1.05) 129,543
EEEDOA MM 775,167
SEEETON HWER B2 BMHIEZRE(1.04) 27,162




B # R

10 [BREZtEEEYiIEL —ExR(E)
1—FNo| (1&1&) (M EEEZEAR) (EE4) r*M>Javy H$2JJ0vY
_ BILHHERE rE =40 58 =0 431
B {fiNo £ a1 S ® = BT B i & % w =
86[[ 8 T 3 &2 ] 1.00 = 0 0
3702 | E/MNEEUE BUE - 1HE£-i5A 1.00 = 105,000 105,000
4487 | BHEEYMIRYIHOLI (B) |309U-t7 L-hlE<EHE] 20kehR 1.90] m3 26,399 50,158
8509 | SRR YN (F R 7ILMHERR) [T/ vy —DC Bl ES R 19.70 m 536 10,559
8510 |FHEEhR VI (V) —NMEEMR) |ET/ N\ —D B ESE 14.00 m 1,029 14,406
8512 | S MRAERE O V) — MR [T/ A\ —DHlS ES B 2430 m2 162 3,936
8513 |FHE IR (P RZ7ILAEER) |ET/ N\ —V B ESE 27.80 m2 162 4503
B &t 188,562
Hi [188562] 188,000
2 H B fiff 188,000
(&%) €5EHOAN HHEECGEGF -BIFHN) FHEHEER(0%) BER2BFHIEFRE(1.05) 62,969
EEEETON FHEECEGF-BIF) FHFMEEE (0% BER2BHIERE(1.05) 2,345
EEEDOA MM 12,713
SEEETON HWER B2 BMHIEZRE(1.04) 1,568




BH i =
11 [ERFZLTNIET —E~7HN (L)
1—FNo| (1&1&) (M EEEZEAR) (EE4) r*Javy HJJ0vY
F TSy 04t ERIAEES 5km BILHHERE AE =40 58 = 431
B {fiNo £ a1 % ® = BT B i & % w =
9| T 3 = ] 1,321.00 m3 0 0
7016 |4 TSy 0Bk A Th5v4t 0.8BH 1,321.00 m3 2,428 3,207,388|1467.7 X 0.9
B &t 3,207,388
Hi [3207388] 3,207,000
BN H Bl 2,427
(&) ®EEFTHTOA FHE (EBERF-BFMN) 0
EEEETON FHEECEGF-BIF) FHFMEEE (0% BER2BHIERE(1.05) 1,722,584
EEEDOA MM 0
SEEETON HEER 0




BH i =
12 |R[EXR-HIERNIE ZEB~N(E)
1-FNo| (#&:&) (M EEEZEAR) (EE4) r*Javy HJJ0vY
LREEA (LB BT F40-HA) BAHZMEEE rE =40 58 =0 431
B {fiNo % i % ® = BT B M & % w =
86[[ 8 T 3 &2 ] 1.00 2N 0 0
7018 | R EARMIE (R - 3T EYD) [10cmEiFE EEEXES 23.00 7N 271 6,233
7019 | R PEARMLIE (4R - #3237 EYD) [10cmLl E16cmk il TBIELE 17.00 7N 332 5,644[13+4
7020 | ZPEARMIE (fRE] - 43T - EV) |16cmid E22cmkid ERIELE 28.00 7N 406 11,368[17+11
7021 [ZEARMNIEE (R1E] - 83T - EV) |220mid E28cmkidi EBIELE 109.00 7N 475 51,775[92+17
7022 | ZEARMIEE (RE-£3T-EVD) |28cmil Lt EBIEES 292.00 7N 553 161,476]279+13
6391|7 5vFILEEA 5 346.00] m3 696 240,816(327.33+18.78
B &t 477,312
5t [477312] 477,000
2 H B i 477,000
(&%) €5EHOAN HHEECGEGF -BIFHN) FHEHEER(0%) BER2BFHIEFRE(1.05) 220,569
EEEETON FHEECEGF-BIF) FHFMEEE (0% BER2BHIERE(1.05) 73,006
SEEETORN R HE 0
SEEETON HWER B2 BMHIEZRE(1.04) 159,160




B # R

13 |#RHELEE ZE~7HN (L)
1—FNo| (1&1&) (M EEEZEAR) (EE4) r*M>Javy H$2JJ0vY
fi4k 0.45BH i HILBMEEE AE_ = 1 58 =2 431
B {fiNo £ a1 % ® = BT B i & % w =
86[[ 8 T 3 &2 ] 1.00 = 0 0
7023 [1R &k (BEHLFRAR) 0.8BH m#k 382.80] m2 67 25,647
7024 |#R ¥k (R H1) 0.45BH 107.00 m3 4821 515,847
7025 |#R ¥k (F&3A) 0.45BH 107.00 m3 3,175 339,725
B &t 881,219
Hi [881219] 881,000
2 H B fiff 881,000
(&%) €5EHOAN HHEECGEGF -BIFHN) FHEHEER(0%) BER2BFHIEFRE(1.05) 288,477
EEEETON FHEECEGF-BIF) FHFMEEE (0% BER2BHIERE(1.05) 277,251
SEEETORN R HE 0
SEEDOA HHER 0




BH i =
14 |ZFER-EEXEREVIER ZEByA (L)
1-FNo| (#&:&) (EMEEER) (BEHEHA) r(2JAavy H2JJAavs
FUTNovo4 BAHZMEEE rE = 5 58 =0 431
H {fiNo % i % B = Ei B M & % w =
86[[ 8 T 3 &2 ] 1.00 = 0 0
3719 | R EXREWRE 20kmZET 2~6tE 66.00 [ 16,080 1,061,280
3720 | EXEEMEMRE HIEAR)  |20kmET 2~6tH 4.00 [ 16,080 64,320
7017 |[EEEXBREVERE EHE) LTS5y 44t 0.8BH 107.00] m3 9,643 1,031,801
3721 |EXEREREWEIRE (£E<T) |20kmFET 2~6tE 1.00 [ 16,080 16,080
3722 | EXBEEWERE (KSY)  |40kmET 2~6tEH 1.00 [ 19,660 19,660
7551 |8 TSy Bk At | =27.2km 3470 m3 9,860 342,142 lims -2 5915095
7552|% Thov DBk AtEE L=27.2km (45 AR BUIE) 350, m3 9,860 34,510
1T |ELEEYERE BEISXAF YY) |#4H 60kmET 1.00 [=] 23,250 23,250
B &t 2,593,043
&t [2593043] 2,593,000
2 B fiff 2,593,000
(fF®) €%BHDOAN FHEE (EEGF-BIFHN) 0
EEEETON FHEECEGF-BIF) FHFMEEE (0% BER2BHIERE(1.05) 842,450
EEEDOA MM 23,250
SEHON HHER 0




BH

i

=

15 |EXEEYLE —E~7HN (L)
1-FNo| (#&:&) (M EEEZEAR) (BEHEHA) r*Javy HJJ0vY
_ BAHZMEEE rE =40 58 =0 431
B {fiNo % i S ® = BT B M & % w =
86[[ 8 T 3 &2 ] 1.00 = 0 0
3706 | LB & HHEXR 23.10] ZEm3 7,000 161,700
3707 [fnIR & Bk 171.90] ZEm3 14,000 2,406,600
3703| B & £E<T 0.07 t 25,000 1,750
3704 |1 & AT (#) 0.38 t 12,000 4,560
3705 |An1E £ ALY (BR) 0.52 t 14,000 7,280
3769 | LB & a9 —bak (&) 77.80 t 1,200 93,360
3770(AnIRE a9 —bsk (Bf) 9.40 t 1,500 14,100
3771|n1RE T AI7ILEER 2.60 t 1,200 3,120
3772| IR E BTSAFVY 13.60] m3 7,500 102,000
B it 2,794,470
Hi [2794470] 2,794,000
BN H Bl 2,794,000
(&) ®EEFTHTOA FHE (EBERF-BFMN) 0
EEEETON HHEECELRF-BF) 0
EEEDOA MM 212,580
SEEDOA HHER 0




BH i =
16 |REEEE —ExR(E)
1-FNo| (#&:&) (M EEEZEAR) (EE4) r*Javy HJJ0vY
REFEEB _ BAHZMEEE E =40 58 =0 431
B {fiNo £ a1 S ® = BT B i & % w =
86[[ 8 T 3 &2 ] 1.00 = 0 0
N|RBFEEE(EES SHAEIAFE 88.00 A 11,445 1,007,160
B &t 1,007,160
Hi [1007160] 1,007,000
2 H B fiff 1,007,000
(&%) €5EHOAN HHEECGEGF -BIFHN) FHEHEER(0%) BER2BFHIEFRE(1.05) 1,007,160
EEEETON HHEECELRF-BF) 0
SEEETORN R HE 0
SEEDOA HHER 0




BF

M =

O 1# ZRB»W (k) v

£ |xwem - musommarms |

BELERBREEFM

TR

B EE-RITRE |

553’000 |m4ﬁ, PR TR SRS A | 1 3’549,360

88,222,000 o BEHAHERER

1RILIT YT E

H

=

A 0 a [FERMBRKEZR®Y) 8.35

S XREEETHAZE®H) 0 b FETHuSFHIERE 1.3

H xREEERNMEEC) 14,102,360 ¢ E{R2H#HEZRE 1.04

P EXRRFZEEENRE 74,119,640 d $IRAMREEEZRE axb*c 11.29
B fiNo % T ] = T | B2 | = %28 | & = |

Nat (AMaH L TIRE ) 0 0
7026| + THEM AR (A -#BT BT 0.10m3BH(STTL—LIL—) 1.00 [a] 272,296 272,296
3033|=EtEH BnfBl< R A 10.00] A 11,900 119,000
3774|CBRERER & 2.00] =¥ 40,000 80,000
3775|ZENCBRA R} £ Hn 1.00| &HFkr 14,300 14,300
3776|750 LA iR ER 1.00[ #&{& 7,300 7,300

Nt BEALITIREEE) 492896 492,000

EEHBRER P x 11.29 % 1.00 = 8,368,000

it 8,860,000
(&%) (B2) 2EHONFBEOLE 0 %E|15 224,000




Eﬂ %Hi i O1# CRB»A (L) v
18 | RiELeE LbERe
(#8:&) (ZFMNEHEER) (BEHHA) (My7my|H777m99) | (7' oyIREFE)
i BIHZMNEEE rE 58 431 S
B {fiNo £ i % B = B R & E
[ EEE 1.0 = - 23,607,000
&t 23,607,000
A B RTIEE 88,222,000 M
B fiTx% (A +H{RE) 97,082,000 M
C RITE (NnEE—EE) 553,000 M C' $HHT.FIRE 13,549,360
D REEHEEREXREE (B-C-0C) 82,979,640 M
E RIGEBWER (DTEE) 26.84 % 18U RYTE
F e TRFEAMHIE RETHA (1B TH) B ( 337 A)
G ZHHIRAIHE 08
H Rt X oI R 0.00
I ZXPRTEERNIH=E) (G/F * 100) 0% (FEDGEFERNITIELRE)
J  RHEFHIEER (H*I1.-100) 0.00 %
K EEH 0 A
L EEHZE (K/F * 100) 0 %
M EAohE X SR 4 IE 3R (L*1.2.,7100) 0.00 %
N fits T ithigi 4@ 1F R 41 1.00
O BIR2BHIERE 1.06
P HIERIGEBRER (E*xN+ (J+M)) *C 28.45 % (J+MD & KIE2. 0%)
Q EXHIGERE (D*P.~100) 23,607,707 M
R im#tNIE%E (FH1L) -707 H
S RGEEHE (Q+R) 23,607,000 [

-




BA i

&

19 | — =& m 8 =
(&) HERNBRILTESE (FHEEEAR) (FEHBmA) |My7ovy| 377099 | (T ByyRRFR)
EILHENEEE RE 58 431 = X0
E {fiNo % G H® 8 = B4 | B & %8

— & B B % 1.0 = - 18,236,000
&t 18,236,000
O IE[R{f —EyA(L) 120,689,000 F XamE 0M
25| AT EEBE 553000
M (R EEIL. LEEEEEFRN)

M

M

M

M

M

M

M

A —REBBZEETXNREE (XAMR-RITETHIE) 120,136,000 M

B —EBEEEXR (ATHEE) 15.14 %

C #HIE®RH 1.00

D HE—EEESEE (B*C) 15.14 %

E EHR—REBREESH (A*D100) 18,188,590 M

F ZHRIHIE(E 0.04 %

G ZHRIMIELE (A*F.”100) 48,054 M

H EX—REEES (E+G) 18,236,644 M

I EA—REHES (FHAL) 18,236,000 M

#E XWBAREBR. EIFEEHBRJRBICHAALAFNTODISEICRS.




B E£ E M X

4010 |7° Wb -4 iEBn(BtL) | BILHEMEEE K2
31—} No | (#&1%) r>Jovy H+2J7J0v5 1 R B L
F#1-9-1| 3t =& 0% HEH S 10 Byl =450 58 =450 431 18
H{fiNo £ G y5i % B = B i =N i * % & =

13:E 85 F(5F5%) SH4FEIAFTE 1.000 A 22,785 22,785
0|8  H 25.000 L 128 3,200
2097|FILE—HiEH 3tfk ( 0% HEAFE 1R 1.560| A 5,680 8,861
g BER: 45E8RLLE 34,846

B i 1.0 H3Y 34,846

BEORNFBEEDELE 22,785

HilORAEBEMEDEEE 0

EED

1%-18




B E E i x
4033 |V yoh)EER iR EILHFMEEE KE
1—-FNo | (#&1&) roJavy H+2J7J0v5 1 R B L
@ |1LFE0.45m3[0.35m3]E 1 0% = 4l 58 = Al 431 1 B
B {fiNo £ G y5i % B = B i =N i & & & =
13[;EERF (FF5%) SH4FEIAFTE 0.160 A 22,785 3,646
99|82 M 9.200 L 128 1,178
2422|173y iE% 1L1F%0.45m3[0.35m3] 1.000] F¥ME 2,610 2,610
& K 4E8RLLE 7,434
B i 1.0 FFR Y 7,434
BEORNFBEEDELE 3,646
BDQRABRMEDOEEE 0
(FZE] -1




B E£ E M X

4036 | vk BEEiE B | BEILGEMERE K2
1—FMNo | (#&1&) rJAavy H+2J7J0v5 1 R B L
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271771 % # (#) L=3.6m~40m E=14cm~160m 0.060 m3 12,288 737[0.377m3 % 0.15=0.06
2773| IEE|44 (%) 40m X 45X 45cm 0.040 m3 56,000 2,240(0.250m3 x 0.15=0.04
219|FE LR 4.0mm (# 8) 13.590 Kg 158 2,147
Q1L BEXSE SH4FEIRFHE 4.140 A 18,480 76,507 | X {E T, /N4 TEUT
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53835 & & & (&) 204.100 m?2 1,170 238,797
6121 [BHRELEER)FITL-VIL-ViER)|0.6m3 () 8.200 m3 2,388 19,582
6122(1B 8 ELEEE)F77L-VIL -V F)|0.6m3 () 2.000 m3 1,123 2,246
6123[IBORELERE )N v R EA 0.6m3 (&) 11.300 m3 1,598 18,057
6094 |IBHRELEEE Ny HER [0.1m3 () 29.900 m3 1,535 45.897| A 1E T EFR4AI
61241BORELERE )N v R EA 0.6m3 (&) 3.200 m3 333 1,066
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6123|1BHRELEEEH)N v HEA [0.6m3 () 16.400 m3 1,598 26,207
6094 | IO RELEFE N v HER [0.1m3 () 43.500 m3 1,535 66,773 &1 T 7l
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6122(1B 8 ELEEE)F77L-VIL -V F)|0.6m3 () 1.600 m3 1,123 1,797
6123[IBORELERE )N v R EA 0.6m3 (&) 8.700 m3 1,598 13,903
6094 IO RELEFE N v R ER [0.1m3 (&) 23.200 m3 1,535 35,612| 81T E R4
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* 21EEIEXES SHAEIAFHE 0.420 A 18,480 7,762
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* 1% EEXE SH4FEIRFHE 0.210 A 22,155 4,653
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* 1% EEXE SH4FEIRFHE 0.240 A 22,155 5317
* 21EEIEXES SHAEIAFHE 0.240 A 18,480 4,435
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* 1% EEXE SH4FEIRFHE 0.280 A 22,155 6,203
* 21EEIEXES SHAEIAFHE 0.280 A 18,480 5174
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* 1% EEXE SH4FEIRFHE 0.310 A 22,155 6,868
* 21EEIEXES SHAEIAFHE 0.310 A 18,480 5,729
100058 #t & HNEEEIIHTHENE 8.000 % 12,597 1,008
A - 4B 8K LU E 13,605
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HilORAEBEMEDEEE 0
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* 1% EEXE SH4FEIRFHE 0.350 A 22,155 7,754
* 21EEIEXES SHAEIAFHE 0.350 A 18,480 6,468
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* 1% EEXE SH4FEIRFHE 0.180 A 22,155 3,988
* 21EEIEXES SHAEIAFHE 0.180 A 18,480 3,326
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A - 4B 8K LU E 8,858
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* 1% EEXE SH4FEIRFHE 0.230 A 22,155 5,096
* 21EEIEXES SHAEIAFHE 0.230 A 18,480 4,250
100058 #t & HNEEEIIHTHENE 9.000 % 9,346 841
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* 1% EEXE SH4FEIRFHE 0.290 A 22,155 6,425
* 21EEIEXES SHAEIAFHE 0.290 A 18,480 5,359
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13[;EERF (FF5%) SH4FEIAFTE 1.000 A 22,785 22,785

2973|/\y ORI ER IO SR LL3E 0.45m3 (&' 5yFILAH) 1.000 = 49,712 49,712
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100038 # & XNEEEITNTIENE 21.000 % 2,176 457

g BER 4B 8K L E 75,130

B i 1.0 m3&Y) 696

BiONFTHEEDEE 211

HilORAEBEMEDEEE 0

EED




B @ =
7009 |4HERIELH T EILHFMEEE KE
1—FMNo | (#&1&) r>Jovy H+2J7J0v5 1 R B L
a2-71 | EBEXE =% 58 =% 431 100 A&
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4703|85FE T 16—-25mm 0.300 t 37,582 11,275|2.56kg X 1004/1,000
24| T R— AR EE% SHAEIAFHE 0.180 A 24,360 4,385
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H{fiNo £ G 3 ¥ B = B I =N i * % & =
3712| Ry A 1k T4t H=6.5m 20.450 t 660,000 13,497,000
5465 |H B &R 41 - $AST - HEAT T TRIEEXS 20.220 t 20,264 409,738
5466 | A#F T LRIEXES 360.000 7N 190 68,400
5467(7>h—I EBEEXS 48.000 7N 5,240 251,520
5468|IRIFEET LRIEXES 1.820 m2 1,148 2,089
3723 EMHEME BREX)YE) 10kmZET 2~6tE 6.000 [a] 14,290 85,740|20.45/4=5.11=6
& K 4E8RLLE 14,314,487
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